
Expanding single brackets solutions 
 
Green Section 

1. 3𝑎 + 5 
2. 3𝑥 − 24 
3. 18 − 2𝑦 
4. 6𝑎 + 3 
5. 12𝑡 + 12 
6. 33𝑘 − 44 
7. 12 − 24𝑟 
8. 35𝑤 − 56 
9. 24 − 3𝑎 
10. 8𝑥 + 28𝑦 + 12𝑧 
11. −10𝑦 + 50 
12. −40𝑝 + 25𝑞 

 
Yellow Section 

1. 𝑐𝑑 − 4𝑐 
2. 𝑟𝑠 + 𝑟𝑡 
3. 2𝑎𝑏 − 10𝑎 
4. 6𝑥𝑦 + 54𝑥 
5. 2𝑠𝑡 + 10𝑠 
6. −12𝑎𝑘 + 8𝑎 
7. 𝑎2 + 8𝑎 
8. 8𝑐 − 𝑐2 
9. 16𝑐 + 32𝑐2 
10. 𝑚3 + 8𝑚 
11. 18𝑐3 − 48𝑐 
12. 𝑥4 + 2𝑥2 

 
Red Section 

1. 13𝑤 + 80 
2. 9𝑦 + 18 
3. 4𝑔 + 4 
4. −2 
5. 15 + 2𝑑 
6. 6𝑠 − 13 
7. 2𝑤2 + 7𝑤 
8. 2ℎ2 − 12ℎ 
9. 4𝑎 + 2𝑏 + 2𝑎𝑏 
10. 4𝑚𝑛 + 5𝑚 − 7𝑛 
11. 𝑐 + 35𝑑 − 6𝑐𝑑 
12. 4𝑤2 + 8𝑤3 

 
Apply 

1. a) 16𝑦 − 2 
b) 29𝑚 − 2 

2. -3 x -6 should be positive 30. 
12g – 15g = -3g not -2g 



-18 – 30 = -48 not -12 


